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GS 
1. T-20 Team highest score (female) 
2. WHO 
3. Internet Security 
4. SDG Index launch  
5. Under 19 wresting champion 
6. Cricket fixing is a crime  
7. Volcano eruption gas? 
8. Women primary sexual organ 
9. Noor Jaha – Wife of? 
10. Journalism excellence award. 
11. Madhavpur Mela 
12. U-19 T-20 cricket female best score 
13. WB State (Agreement) gender 
14. Economy – CR formula 
15. Metal no effect of bacteria 
16. Winter Olympics 
17. Primary sex organ of female 
18. Inflation (RBI) 
19. Vikram Savat start 
20. Merchant Rate related to 
21. Army day [commemoration] 
22. Bajrang Punia (U-19) defeated 
23. Cricket fining crime  
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English 
Anto/Syno- 4Q 
 Persist 
 Glee 
 Preference  
 Abandom 

 
Spelling: 
 Equittence (Acquaintance) 

Error Detection – 2Q.  
 Verb. 

Voice & Narration – 2Q 
 Narration was on Exclamatory part 

Cloze test - 5Q 
 Atlas & Hercules  

Idiom & Phrases-2Q 
 By and by 

One word Substitution: 
 Group of Ships. 

 
Reasoning : Same as all shifts. 
 Alphabetical series 
 Analogy 
 Blood relations 
 Paper cutting  
 Embedded 
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Maths 
Triangle  Q. 2-3 
Algebra  Q. 2-3 
Profit & Loss  2  Discount/Profit 
S.I.  1 
Average  1 
 

 
                                             
 
MP = 888    D = 22 %     P = 11%     CP = ? 
D.I. table  5 grains production year     Difference, P% increase P% decrease 
 
 a3 + b3 + c3 – 3abc = given   ab + bc + ca = ? 
H.S.      
 
D = 40 cm  
n = ? small hs  r = 5 cm 
 

1 1 1
3 27 81 144 ?a b c abc

a b c
       
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Eq.  A = given     P = ? 
Eq  
side = 8 cm P = ? 
 
P % = given       D % = given       MP : CP = ? 

 

 

Kindly Verify these Questions… 

Most of the questions from CPO 2019 
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